o
[N

.........................................................................................

<3 @> (rad)
<)
o [
)

o
o o
T

1

=

o
iN

o
iN

1

2 3
TPlpoT (PCA t%obeamlinélf) 1
—=— DQM_TT__CKF_ORIG

—— DQM_TT__CKFandPLess_ORIG
—— DQM_TT__CKFandPLess_MODIF

= 100 . ¥

g 2 1 1 g 2 Py
< 80111t H e = 80F-----F T A
2 60f---- N ) EERPR < 60 4 7 N1 F PRSP
o FILE o F CELIL LT
v 40:—---- “ 74 RRARARRRE L RERRRRRREY v 40_— ------ LM 1 S
20F- - AFHEHIHHA oo 20f--++-- EHAT R EHH e
oF--- 21| B — oF -4 ;11 R
—-20F--- -t —20F------ “ ---------------------
—40F - {-H A HEFH oo —40F- -+ 0 IR
—60---- ' Af —60------ ' Ly
-80F---- {H T -80F------ hetd O RCTETRTPEY
9_1095 b |! 1 e |! 1 |||||||! L 9_1095 1 ||||i“! 1 il |! *: |||||||! L
g S it FREPE [EPRPRE e g 3 S0 | I S
2f--- 5 2 B
R 5 1 | A
OE—1 = : :2 3 o—1 : 2 3
10 1 TPl[g)T (PCA f%)obeamlin%f) 10 1 TPl[g)T (PCA f%)obeamlinép

<op/p. > (%)

[y

o
I8

[N

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


